13a)

 
[image: image1.wmf]÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

0

1

2

3

5

4

0

1

2

3

5

4

s

s

r

r

s

r

 
[image: image2.wmf]«



 EMBED Equation.3  [image: image3.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

0

1

2

3

5

4

s

r

r

 
[image: image4.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

+

-

«

0

1

2

5

3

4

s

r

r

  
[image: image5.wmf]0

2

5

1

3

4

=

+

Ù

=

-

«

r

s

r

(   


4 = s+3r

5 = 0-2r

	1
	3
	4
	G1

G2

G3=3*G2+2G1

G4=G2

G5=G3 /2

G6=G4/-2

	0
	-2
	5
	

	2
	0
	23
	

	0
	-2
	5
	

	1
	0
	11,5
	

	0
	1
	-2,5
	


L = {(11,5 ; -2,5)}

Probe:


[image: image6.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

+

«

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

÷

÷

ø

ö

ç

ç

è

æ

0

5

,

11

0

5

,

11

0

5

,

11

5

5

5

,

7

4

0

1

5

,

11

2

3

5

,

2

5

4

 (w)

13b)


[image: image7.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

2

1

5

1

1

2

2

1

1

1

5

2

2

1

1

1

5

2

2

1

1

1

5

2

+

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

 (    2 = 1r+1s

5 = 1r+2s 

	1
	1
	2
	G1

	1
	2
	5
	G2

	1
	1
	2
	G3=G1

	0
	-1
	-3
	G4=G1-g2

	1
	0
	-1
	G5=G4+G3

	0
	-1
	-3
	G6= G4

	1
	0
	-1
	G7=G5/1

	0
	1
	3
	G8=G6/-1


L = {(-1 ; 3)}

Probe:


[image: image8.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

-

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

5

2

5

2

6

1

3

1

5

2

2

1

3

1

1

1

5

2

 (w)

13c)


[image: image9.wmf]«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

0

1

5

1

0

3

3

2

1

0

1

5

1

0

3

3

2

1

0

1

5

1

0

3

3

2

1

s

s

r

r

s

s

s

r

r

r

s

r



 EMBED Equation.3  [image: image10.wmf]0

1

3

1

0

2

5

3

1

=

-

Ù

=

+

Ù

=

+

r

s

s

r

( r = 3 ( s = 2

L = {(3 ; 2)}

Probe:


[image: image11.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

+

+

+

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

0

2

10

0

2

10

0

2

10

)

3

(

3

0

2

9

1

0

1

5

2

1

0

3

3

3

2

1

 (w)

13)d


[image: image12.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

r

s

r

s

r

s

s

s

r

r

r

s

r

5

1

2

2

1

10

6

1

0

1

2

5

2

1

10

6

1

0

1

2

5

2

1

10

6

1



 EMBED Equation.3  [image: image13.wmf]r

s

r

s

r

5

10

1

2

6

2

1

1

=

Ù

+

=

Ù

+

=

«

 (

[image: image14.wmf]r

s

r

s

r

=

+

=

+

=

2

1

2

6

2

1

1



[image: image15.wmf]s

s

s

=

«

+

=

«

+

=

2

1

4

6

1

2

*

2

6



[image: image16.wmf])

(

6

1

4

2

1

2

*

2

2

*

1

1

falsch

=

«

+

=

«

+

=


L = {}

14a)


[image: image17.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

3

1

4

1

2

3

3

1

1

2

4

3

3

1

1

2

4

3

3

1

1

2

4

3

+

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

 (

[image: image18.wmf]s

r

s

r

3

1

3

1

2

3

+

=

+

=


	2
	1
	3
	G1

	1
	3
	4
	G2

	2
	1
	3
	G3=G1

	0
	-5
	-5
	G1=g1-2*G2

	10
	0
	10
	G5=G4+5*G3

	0
	-5
	-5
	G6=G4

	1
	0
	1
	G7=G5/10

	0
	1
	1
	G8=G4/(-5)


L = {(1 ; 1)}

Probe:


[image: image19.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

4

3

4

3

3

1

1

2

4

3

3

1

1

1

2

1

4

3

 (w)

14b)


[image: image20.wmf]r

=

÷

÷

ø

ö

ç

ç

è

æ

8

6



 EMBED Equation.3  [image: image21.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

3

1

8

1

2

6

3

1

1

2

8

6

3

1

1

2

8

6

3

1

1

2

+

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

 ( 
[image: image22.wmf]s

r

s

r

3

1

8

1

2

6

+

=

+

=


	2
	1
	6
	G1

	1
	3
	8
	G2

	2
	1
	6
	G3=G1

	0
	-5
	-10
	G4=g1-2*G2

	10
	0
	20
	G5=G4+5*G3

	0
	-5
	-10
	G6=G4

	1
	0
	2
	G7=G5/10

	0
	1
	2
	G8=G6/(-5)


L = {(2 ; 2)}

Probe:


[image: image23.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

8

6

8

6

6

2

2

4

8

6

3

1

2

1

2

2

8

6

 (w)

14c)


[image: image24.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

3

1

5

1

2

5

3

1

1

2

5

5

3

1

1

2

5

5

3

1

1

2

5

5

+

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

 (

[image: image25.wmf]s

r

s

r

3

1

5

1

2

5

+

=

+

=


	2
	1
	5
	G1

	1
	3
	5
	G2

	2
	1
	5
	G3=G1

	0
	-5
	-5
	G4=G1-2*G2

	10
	0
	20
	G5=G4+5*G3

	0
	-5
	-5
	G6=G4

	1
	0
	2
	G7=G5/10

	0
	1
	1
	G8=G6/(-5)


L = {(2 ; 1)}

Probe:


[image: image26.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

5

5

5

5

3

2

1

4

5

5

3

1

1

1

2

2

5

5

 (w)

14d)


[image: image27.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

s

r

s

r

s

s

r

r

s

r

3

2

1

2

2

1

3

1

1

2

2

1

3

1

1

2

2

1



 EMBED Equation.3  [image: image28.wmf]s

r

s

r

3

2

2

1

2

1

+

=

-

Ù

+

=

(

[image: image29.wmf]s

r

s

r

3

1

2

1

2

1

+

=

-

+

=


	2
	1
	1
	G1

	1
	3
	-2
	G2

	2
	1
	1
	G3=G1

	0
	-5
	5
	G4=G1-2*G2

	10
	0
	10
	G5=G4+5*G4

	0
	-5
	5
	G5=G4

	1
	
	1
	G7=G5/10

	0
	1
	-1
	G8=G6/(-5)


L = {(1 ; -1)}

Probe:


[image: image30.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

2

1

2

1

3

1

1

2

2

1

3

1

1

1

2

1

2

1

 (w)

14e)


[image: image31.wmf]÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

s

r

s

r

s

s

r

r

s

r

3

1

1

2

3

4

3

1

1

2

3

4

3

1

1

2

3

4

(
4 = 2r + s ( -3 = r + 3s (

[image: image32.wmf]s

r

s

r

3

1

3

1

2

4

+

=

-

+

=


	2
	1
	4
	G1

	1
	3
	-3
	G2

	2
	1
	4
	G3=G1

	0
	-5
	10
	G4=G1-2*G2

	10
	0
	30
	G5=G4+5*G3

	0
	-5
	10
	G6=G4

	1
	0
	3
	G7=G5/10

	0
	1
	-2
	G8=G6/-5


L={(3 ; -2)}

Probe:


[image: image33.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

3

4

3

4

6

3

2

6

3

4

3

1

2

1

2

3

3

4

 (w)

14f)


[image: image34.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

s

r

s

r

s

s

r

r

s

r

3

1

1

2

4

3

3

1

1

2

4

3

3

1

1

2

4

3



[image: image35.wmf]s

r

s

r

3

1

4

1

2

3

+

=

-

Ù

+

=

-

 (

[image: image36.wmf]s

r

s

r

3

1

4

1

2

3

+

=

-

+

=

-


	2
	1
	-3
	G1

	1
	3
	-4
	G2

	2
	1
	-3
	G3=G2

	0
	-5
	5
	G4=G1-2*G2

	10
	0
	-10
	G5=G4+5*G3

	0
	-5
	5
	G6=G4

	1
	0
	-1
	G7=G5/10

	0
	1
	-1
	G8=G6/-5


L={(1;-1)}

Probe:


[image: image37.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

4

3

4

3

3

1

1

2

4

3

3

1

1

1

2

1

4

3

 (w)

14g)


[image: image38.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

s

r

s

r

s

s

r

r

s

r

3

1

1

2

6

2

3

1

1

2

6

2

3

1

1

2

6

2



[image: image39.wmf]s

r

s

r

3

1

6

1

2

2

+

=

Ù

+

=

(

[image: image40.wmf]s

r

s

r

3

1

6

1

2

2

+

=

+

=


	2
	1
	2
	G1

	1
	3
	6
	G2

	2
	1
	2
	G3=G1

	0
	-5
	-10
	G4=G1-2*G2

	10
	0
	0
	G5=G4+5*G3

	0
	-5
	-10
	g5=G4

	1
	0
	0
	G7=G5/10

	0
	1
	2
	G8=G6/-5


L = {(0 ; 2)}

Probe:


[image: image41.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

6

2

6

2

6

0

2

0

6

2

3

1

2

1

2

0

6

2

 (w)

14h)


[image: image42.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

s

r

s

r

s

s

r

r

s

r

3

1

1

2

2

4

3

1

1

2

2

4

3

1

1

2

2

4



[image: image43.wmf]s

r

s

r

3

1

2

1

2

4

+

=

-

Ù

+

=

-

 (

[image: image44.wmf]s

r

s

r

3

1

2

1

2

4

+

=

-

+

=

-


	2
	1
	-4
	G1

	1
	3
	-2
	G2

	2
	1
	-4
	G3=G1

	0
	-5
	0
	G4=G1-2*G2

	10
	0
	-20
	g5=G4+5*G3

	0
	-5
	0
	G6=G4

	1
	0
	-2
	G7=G5/10

	0
	1
	0
	G8=G6/-5


L = {(-2 ; 0)}

Probe:


[image: image45.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

-

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

2

4

2

4

0

2

0

4

2

4

3

1

0

1

2

2

2

4

 (w)

14i)


[image: image46.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

3

1

3

1

2

0

3

1

1

2

3

0

3

1

1

2

3

0

3

1

1

2

3

0

+

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

 (

[image: image47.wmf]s

r

s

r

3

1

3

1

2

0

+

=

+

=


	2
	1
	0
	G1

	1
	3
	3
	G2

	2
	1
	0
	G3=G4

	0
	-5
	-6
	G4=G1-2*G2

	10
	0
	-6
	G5=G4+5*G3

	0
	-5
	-6
	G6=G4

	1
	0
	-6/10
	G7=G5/10

	0
	1
	6/5
	G8=G6/-5


L = {(
[image: image48.wmf]5

6

;

10

6

-

)}

Probe:


[image: image49.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

+

-

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

3

0

3

0

5

18

10

6

5

6

10

12

3

0

3

1

5

6

1

2

10

6

3

0

 (w)

14j)


[image: image50.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

3

1

0

1

2

3

3

1

1

2

0

3

3

1

1

2

0

3

3

1

1

2

0

3

+

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

 (

[image: image51.wmf]s

r

s

r

3

1

0

1

2

3

+

=

+

=


	2
	1
	3
	G1

	1
	3
	0
	G2

	2
	1
	3
	G3=G1

	0
	-5
	3
	G4=G1-2*G2

	10
	0
	18
	G5=G4+5*G3

	0
	-5
	3
	G6=G4

	1
	0
	18/10
	G7=G5/10

	0
	1
	-(3/5)
	G8=G6/-5


L = {( 
[image: image52.wmf]5

3

;

5

9

-

)}

Probe:


[image: image53.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

0

3

0

3

5

9

5

9

5

3

5

18

0

3

3

1

5

3

1

2

5

9

0

3

 (w)

14k)


[image: image54.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

3

1

1

1

2

1

3

1

1

2

1

1

3

1

1

2

1

1

3

1

1

2

1

1

+

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

 (

[image: image55.wmf]s

r

s

r

3

1

1

1

2

1

+

=

+

=


	2
	1
	1
	G1

	1
	3
	1
	G2

	2
	1
	1
	G3=G1

	0
	-5
	-1
	G4=G1-2*G2

	10
	0
	4
	G5=G4+5*G3

	0
	-5
	-1
	G6=G4

	1
	0
	4/10
	G7=G5/10

	0
	1
	1/5
	G8=G6/-5


L = {(
[image: image56.wmf]5

1

;

5

2

)}

Probe:


[image: image57.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

1

1

1

1

5

3

5

2

5

1

5

4

1

1

3

1

5

1

1

2

5

2

1

1

 (w)

14l)


[image: image58.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

s

r

s

r

s

s

r

r

s

r

3

1

1

2

3

3

3

1

1

2

3

3

3

1

1

2

3

3



[image: image59.wmf]s

r

s

r

3

1

3

1

2

3

+

=

-

Ù

+

=

-

 (

[image: image60.wmf]s

r

s

r

3

1

3

1

2

3

+

=

-

+

=

-


	2
	1
	-3
	G1

	1
	3
	-3
	G2

	2
	1
	-3
	G3=G1

	0
	-5
	3
	G4=G1-2*G2

	10
	0
	-12
	G5=G4+5*G3

	0
	-5
	3
	G6=G4

	1
	0
	-(12/10)
	G7=G5/10

	0
	1
	-(3/5)
	G8=G6/5


L = {(
[image: image61.wmf]5

3

;

5

6

-

-

)}

Probe:


[image: image62.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

-

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

3

3

3

3

5

9

5

6

5

3

5

12

3

3

3

1

5

3

1

2

5

6

3

3

 (w)

15a)

Teil 1)


[image: image63.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

-

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

s

r

s

r

s

s

r

r

s

r

3

4

1

3

1

2

3

1

4

3

1

2

3

1

4

3

1

2



[image: image64.wmf]s

r

s

r

3

4

1

1

3

2

+

=

-

Ù

-

=

 (

[image: image65.wmf]s

r

s

r

3

4

1

1

3

2

+

=

-

-

=


	3
	-1
	2
	G1

	4
	3
	-1
	G2

	3
	-1
	2
	G3=G1

	0
	-13
	11
	G4=4*G1-3*G2

	-39
	0
	-15
	G5=G4-13*G3

	0
	-13
	11
	G6=g4

	1
	0
	(15/39)
	G7=G5/-39

	0
	1
	-(11/13)
	G8=G6/-13


L = {(
[image: image66.wmf]13

11

;

13

5

-

)}

Probe:


[image: image67.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

1

2

1

2

13

33

13

20

13

11

13

15

1

2

3

1

13

11

4

3

13

5

1

2

 (w)

Teil 2)


[image: image68.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

-

+

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

s

r

s

r

s

s

r

r

s

r

3

1

1

2

4

3

3

1

1

2

4

3

3

1

1

2

4

3



[image: image69.wmf]s

r

s

r

3

1

1

2

3

+

-

Ù

-

=

 (

[image: image70.wmf]s

r

s

r

3

1

4

1

2

3

+

-

=

-

=


	2
	-1
	3
	G1

	-1
	3
	4
	G2

	2
	-1
	3
	G3=G1

	0
	5
	11
	G4=G1+2*G2

	10
	0
	26
	G5=G4+5*G3

	0
	5
	11
	G6=G4

	1
	0
	(26/10)
	G7=G5/10

	0
	1
	(11/5)
	G8=G6/5


L = {(
[image: image71.wmf]5

11

;

5

13

)}

Probe:


[image: image72.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

+

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

4

3

4

3

5

33

5

13

5

11

5

26

4

3

3

1

5

11

1

2

5

13

4

3

 (w)

Teil 3)


[image: image73.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

s

r

s

r

s

s

r

r

s

r

4

1

3

2

3

1

4

3

1

2

3

1

4

3

1

2

3

1



[image: image74.wmf]s

r

s

r

4

1

3

3

2

1

+

-

=

Ù

+

=

-

 (

[image: image75.wmf]s

r

s

r

4

1

3

3

2

1

+

-

=

+

=

-


	2
	3
	-1
	G1

	-1
	4
	3
	G2

	2
	3
	-1
	G3=g1

	0
	11
	5
	G4=G1+2*G2

	-22
	0
	26
	G5=3*G4-11*G3

	0
	11
	5
	G6=gG4

	1
	0
	-(26/22)
	G7=G5/-22

	0
	1
	(5/11)
	G8=G6/11


L = {(
[image: image76.wmf]11

5

;

11

13

-

)}

Probe:


[image: image77.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

+

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

3

1

3

1

11

20

11

13

11

15

11

26

3

1

4

3

11

5

1

2

11

13

3

1

 (w)
[image: image78.wmf]
15b)

Teil 1)


[image: image79.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

-

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

s

r

s

r

s

s

r

r

s

r

8

2

2

3

1

1

8

2

2

3

1

1

8

2

2

3

1

1



[image: image80.wmf]s

r

s

r

8

2

1

2

3

1

-

=

-

Ù

-

=

 (

[image: image81.wmf]s

r

s

r

8

2

1

2

3

1

-

=

-

-

=


	3
	-2
	1
	G1

	2
	-8
	-1
	G2

	3
	-2
	1
	G3=G1

	0
	20
	5
	G4=2*G1-3*G2

	30
	0
	15
	G5=10*G3+G4

	0
	20
	5
	G6=G4

	1
	0
	15/30
	G7=G5/30

	0
	1
	5/20
	G8=G6/20


L = {(
[image: image82.wmf]4

1

;

2

1

)}

Probe:


[image: image83.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

1

1

1

1

4

8

2

2

4

2

2

3

1

1

8

2

4

1

2

3

2

1

1

1

 (w)

Teil 2)


[image: image84.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

s

r

s

r

s

s

r

r

s

r

1

8

1

2

2

3

1

1

8

2

2

3

1

1

8

2

2

3



[image: image85.wmf]s

r

s

r

1

8

2

1

2

3

-

-

=

Ù

+

-

=

 (

[image: image86.wmf]s

r

s

r

1

8

2

1

2

3

-

-

=

+

-

=


	-2
	1
	3
	G1

	-8
	-1
	2
	G2

	-2
	1
	3
	G3=G1

	0
	5
	10
	G4=4*G1-G2

	-10
	0
	5
	G5=G4-5G3

	0
	5
	10
	G6=G4

	1
	0
	-(5/10)
	G7=G5/-10

	  0
	1
	10/5
	G8=G6/5


L = {(-
[image: image87.wmf]2

;

2

1

)}

Probe:


[image: image88.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

2

3

2

3

2

2

8

2

2

2

2

3

1

1

2

8

2

2

1

2

3

 (w)

15b)

Teil 3)


[image: image89.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

s

r

s

r

s

s

r

r

s

r

2

1

3

1

8

2

2

3

1

1

8

2

2

3

1

1

8

2



[image: image90.wmf]s

r

s

r

1

8

2

1

2

3

-

-

=

Ù

+

-

=

 (

[image: image91.wmf]s

r

s

r

2

1

8

3

1

2

+

-

=

-

+

=

-


	1
	3
	-2
	G1

	-1
	2
	-8
	G2

	1
	3
	-2
	G3=G1

	0
	5
	-10
	G4=G1+G2

	-5
	0
	-20
	G5=3G4-5G3

	0
	5
	-10
	G6=G4

	1
	0
	(20/5)
	G7=G5/5

	0
	1
	-2
	G8=G6/5


L = {(4 ; -2)}

Probe:


[image: image92.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

8

2

8

2

4

4

6

4

8

2

2

3

2

1

1

4

8

2

 (w)

15c)

Teil 1)


[image: image93.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

-

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

s

r

s

r

s

s

r

r

s

r

10

2

3

3

1

5

,

1

10

3

2

3

1

5

,

1

10

3

2

3

1

5

,

1



[image: image94.wmf]s

r

s

r

10

2

1

3

3

5

,

1

-

=

-

Ù

-

=

 (

[image: image95.wmf]s

r

s

r

10

2

1

3

3

5

,

1

-

=

-

-

=


	3
	-3
	1,5
	G1

	2
	-10
	-1
	G2

	3
	-3
	1,5
	G3=G1

	0
	24
	6
	G4=2*G1-3*G2

	24
	0
	18
	G5=G4+8*G3

	0
	24
	6
	G6=G4

	1
	0
	18/24
	G7=G5/24

	0
	1
	6/24
	G8=G6/24


L = {(
[image: image96.wmf]4

1

;

4

3

)}

Probe:


[image: image97.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

1

5

,

1

1

5

,

1

4

10

4

6

4

3

4

9

1

5

,

1

10

3

4

1

2

3

4

3

1

5

,

1

 (w)

Teil 2)


[image: image98.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

s

r

s

r

s

s

r

r

s

r

1

10

5

,

1

3

2

3

1

5

,

1

10

3

2

3

1

5

,

1

10

3

2

3



[image: image99.wmf]s

r

s

r

1

10

2

5

,

1

3

3

-

-

=

Ù

+

-

=

(

[image: image100.wmf]s

r

s

r

1

10

2

5

,

1

3

3

-

-

=

+

-

=


	-3
	1,5
	3
	G1

	-10
	-1
	2
	G2

	-3
	1,5
	3
	G3=G1

	0
	18
	24
	G4=10*G1-3*G2

	36
	0
	-12
	G5=G4-12*G3

	0
	18
	24
	G6=G4

	1
	0
	-12/36
	G7=G5/36

	0
	1
	24/18
	G8=G6/18


L = {(-
[image: image101.wmf]3

4

;

3

1

)}

Probe:


[image: image102.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

2

3

2

3

3

4

3

10

2

6

3

3

2

3

1

5

,

1

3

4

10

3

3

1

2

3

 (w)

Teil 3)


[image: image103.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

+

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

s

r

s

r

s

s

r

r

s

r

2

1

3

5

,

1

10

3

2

3

1

5

,

1

10

3

2

3

1

5

,

1

10

3



[image: image104.wmf]s

r

s

r

2

1

10

3

5

,

1

3

+

-

=

-

Ù

+

=

-

 (

[image: image105.wmf]s

r

s

r

2

1

10

3

5

,

1

3

+

-

=

-

+

=

-


	1,5
	3
	-3
	G1

	-1
	2
	-10
	G2

	1,5
	3
	-3
	G3=G1

	0
	6
	-18
	G4=G1+1,5*G2

	-3
	0
	-12
	G5=G4-2*G3

	0
	6
	-18
	G6=G4

	1
	0
	-4
	G7=G5/-3

	0
	1
	-3
	G8=G6/6


L = {(4 ; -3)}

Probe:


[image: image106.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

-

10

3

10

3

6

4

9

6

10

3

2

3

3

1

5

,

1

4

10

3

 (w)

16a)


[image: image107.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

1

1

0

1

1

2

1

1

1

1

0

2

1

1

1

1

0

2

1

1

1

1

0

2

-

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

 (

[image: image108.wmf]s

r

s

r

1

1

0

1

1

2

-

=

+

=


	1
	1
	2
	G1

	1
	-1
	0
	G2

	1
	1
	2
	G3=G1

	0
	2
	2
	G4=G1-G2

	2
	0
	2
	G5=G4-2*G3

	0
	2
	2
	G6=G4

	1
	0
	1
	G7=G5/2

	0
	1
	1
	G8=G6/2


L = {(1 ; 1)}

Probe:


[image: image109.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

0

2

0

2

1

1

1

1

0

2

1

1

1

1

1

1

0

2

 (w)

16b)


[image: image110.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

s

r

s

r

s

s

r

r

s

r

1

1

1

1

2

0

1

1

1

1

2

0

1

1

1

1

2

0



[image: image111.wmf]s

r

s

r

1

1

2

1

1

0

-

=

Ù

+

=

 (

[image: image112.wmf]s

r

s

r

1

1

2

1

1

0

-

=

+

=


	1
	1
	0
	G1

	1
	-1
	2
	G2

	1
	1
	0
	G3=G1

	0
	2
	-2
	G4=G1-G2

	-2
	0
	-2
	G5=G4-2*G3

	0
	2
	-2
	G6=G4

	1
	0
	1
	G7=G5/-2

	0
	1
	-1
	G8=G6/2


L = {(1 ; -1)}

Probe:


[image: image113.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

2

0

2

0

1

1

1

1

2

0

1

1

1

1

1

1

2

0

 (w)

16c)


[image: image114.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

1

1

1

1

1

3

1

1

1

1

1

3

1

1

1

1

1

3

1

1

1

1

1

3

-

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

(

[image: image115.wmf]s

r

s

r

1

1

1

1

1

3

-

=

+

=


	1
	1
	3
	G1

	1
	-1
	1
	G2

	1
	1
	3
	G3=G1

	0
	2
	2
	G4=G1-G2

	-2
	0
	-4
	G5=G4-2*G3

	0
	2
	2
	G6=G4

	1
	0
	2
	G7=G5/-2

	0
	1
	1
	G8=G6/2


L = {(2 ; 1)}

Probe:


[image: image116.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

1

3

1

3

1

2

1

2

1

3

1

1

1

1

1

2

1

3

 (w)

16d)


[image: image117.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

s

r

s

r

s

s

r

r

s

r

1

1

1

1

3

1

1

1

1

1

3

1

1

1

1

1

3

1



[image: image118.wmf]s

r

s

r

1

1

3

1

1

1

-

=

Ù

+

=

-

 (

[image: image119.wmf]s

r

s

r

1

1

3

1

1

1

-

=

+

=

-


	1
	1
	-1
	G1

	1
	-1
	3
	G2

	1
	1
	-1
	G3=G1

	0
	2
	-4
	G4=G1-G2

	-2
	0
	-2
	G5=G4-2*G3

	0
	2
	-4
	G6=G4

	1
	0
	1
	G7=G5/-2

	0
	1
	-2
	G8=G6/2


L = {(1 ; -2)}

Probe:


[image: image120.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

3

1

3

1

2

1

2

1

3

1

1

1

2

1

1

1

3

1

 (w)

16e)


[image: image121.wmf]s

r

s

r

s

r

s

r

s

s

r

r

s

r

1

1

1

1

1

5

1

1

1

1

1

5

1

1

1

1

1

5

1

1

1

1

1

5

-

=

Ù

+

=

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

 (

[image: image122.wmf]s

r

s

r

1

1

1

1

1

5

-

=

+

=


	1
	1
	5
	G1

	1
	-1
	1
	G2

	1
	1
	5
	G3=G1

	0
	2
	4
	G4=G1-G2

	-2
	0
	-6
	G5=G4-2*G3

	0
	2
	4
	G6=G4

	1
	0
	3
	G7=G5/-2

	0
	1
	2
	G8=G6/2


L = {(3 ; 2)}

Probe:


[image: image123.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

1

5

1

5

2

3

2

3

1

5

1

1

2

1

1

3

1

5

 (w)

16f)


[image: image124.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

-

s

r

s

r

s

s

r

r

s

r

1

1

1

1

5

1

1

1

1

1

5

1

1

1

1

1

5

1



[image: image125.wmf]s

r

s

r

1

1

5

1

1

1

-

=

-

Ù

+

=

 (

[image: image126.wmf]s

r

s

r

1

1

5

1

1

1

-

=

-

+

=


	1
	1
	1
	G1

	1
	-1
	-5
	G2

	1
	1
	1
	G3=G1

	0
	2
	6
	G4=G1-G2

	-2
	0
	4
	G5=G4-2*G3

	0
	2
	6
	G6=G4

	1
	0
	-2
	G7=G5/-2

	0
	1
	3
	G8=G6/2


L = {(-2 ; 3)}

Probe:


[image: image127.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

-

=

÷

÷

ø

ö

ç

ç

è

æ

-

5

1

5

1

3

2

3

2

5

1

1

1

3

1

1

2

5

1

 (w)

16g)


[image: image128.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

s

r

s

r

s

s

r

r

s

r

1

1

1

1

2

6

1

1

1

1

2

6

1

1

1

1

2

6

 


[image: image129.wmf]s

r

s

r

1

1

2

1

1

6

-

=

Ù

+

=

 (

[image: image130.wmf]s

r

s

r

1

1

2

1

1

6

-

=

+

=


	1
	1
	6
	G1

	1
	-1
	2
	G2

	1
	1
	6
	G3=G1

	0
	2
	4
	G4=G1-G2

	-2
	0
	-8
	G5=G4-2*G3

	0
	2
	4
	G6=G4

	1
	0
	4
	G7=G5/-2

	0
	1
	2
	G8=G6/2


L = {(4 ; 2)}

Probe: 


[image: image131.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

2

6

2

6

2

4

2

4

2

6

1

1

2

1

1

4

2

6

 (w)

16h)


[image: image132.wmf]«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

×

-

×

+

÷

÷

ø

ö

ç

ç

è

æ

×

×

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

s

r

s

r

s

s

r

r

s

r

1

1

1

1

2

2

1

1

1

1

2

2

1

1

1

1

2

2



[image: image133.wmf]s

r

s

r

1

1

2

1

1

2

-

=

Ù

+

=

 (

[image: image134.wmf]s

r

s

r

1

1

2

1

1

2

-

=

+

=


	1
	1
	2
	G1

	1
	-1
	2
	G2

	1
	1
	2
	G3=G1

	0
	2
	0
	G4=G1-G2

	-2
	0
	-4
	G5=G4-2*G3

	0
	2
	0
	G6=G4

	1
	0
	2
	G7=G5/-2

	0
	1
	0
	G8=G6/2


L = {(2 ; 0)}

Probe:


[image: image135.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

=

÷

÷

ø

ö

ç

ç

è

æ

«

÷

÷

ø

ö

ç

ç

è

æ

-

+

÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

2

2

2

2

0

2

0

2

2

2

1

1

0

1

1

2

2

2

 (w)

17a)


[image: image136.wmf]«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

t

t

s

t

s

r

t

t

t

s

s

s

r

r

r

t

s

r

1

1

1

1

1

1

1

4

2

1

1

1

0

1

1

0

0

1

1

4

2

1

1

1

0

1

1

0

0

1

1

4

2


2 = r + s + t ( 4 = s + t ( 1 = t  (

[image: image137.wmf]t

t

s

t

s

r

=

+

=

+

+

=

1

1

1

4

1

1

1

2


4=1s+1    
|-1

3=s

2=1r+3+1

2=1r+4

|-4

-2=r

L = {(-2 ; 3 ; 1)}

Probe:


[image: image138.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

1

4

2

1

4

2

1

0

0

1

3

0

1

3

2

1

4

2

1

1

1

1

0

1

1

3

0

0

1

2

1

4

2

 (w)

17b)


[image: image139.wmf]«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

t

t

s

t

s

r

t

t

t

s

s

s

r

r

r

t

s

r

1

1

1

1

1

1

1

5

7

1

1

1

0

1

1

0

0

1

1

5

7

1

1

1

0

1

1

0

0

1

1

5

7


7 = r + s + t ( 5 = s + t ( 1 = t (

[image: image140.wmf]t

t

s

t

s

r

=

+

=

+

+

=

1

1

1

5

1

1

1

7


5=s+1

|-1

4=s

7=r+4+1

7=r+5

|-5

2=r

L = {(2 ; 4 ; 1)}

Probe:


[image: image141.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

1

5

7

1

5

7

1

0

0

5

4

0

1

4

2

1

5

7

1

1

1

1

0

1

1

4

0

0

1

2

1

5

7

 (w)

17c)


[image: image142.wmf]«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

t

t

s

t

s

r

t

t

t

s

s

s

r

r

r

t

s

r

1

1

1

1

1

1

13

5

2

1

1

1

0

1

1

0

0

1

13

5

2

1

1

1

0

1

1

0

0

1

13

5

2


-2 = r + s + t ( 5 = s + t ( 13 =  t  (

[image: image143.wmf]t

t

s

t

s

r

1

13

1

1

5

1

1

1

2

=

+

=

+

+

=

-


5=1s+13

|-13

-8=s

-2=1r-8+13

-2=1r+5

|-5

-7=r

L = {(-7 ; -8 ; 13)}

Probe:


[image: image144.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

-

+

-

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

13

5

2

13

5

2

13

0

0

13

8

0

13

8

7

13

5

2

1

1

1

13

0

1

1

8

0

0

1

7

13

5

2

 (w)

17d)


[image: image145.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

t

t

s

t

s

r

t

t

t

s

s

s

r

r

r

t

s

r

1

1

1

1

1

1

5

5

0

1

1

1

0

1

1

0

0

1

5

5

0

1

1

1

0

1

1

0

0

1

5

5

0


0 = r + s + t ( 5 = s + t ( -5 = t (

[image: image146.wmf]t

t

s

t

s

r

=

-

+

=

+

+

=

5

1

1

5

1

1

1

0


5=1s-5

|+5

10=s

0=1r+10-5


0=1r+5

|-5

-5=r

L = {(-5 ; 10 ; -5)}

Probe:


[image: image147.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

+

-

+

-

+

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

5

5

0

5

5

0

5

0

0

5

10

0

5

10

5

5

5

0

1

1

1

5

0

1

1

10

0

0

1

5

5

5

0

 (w)

17e)


[image: image148.wmf]«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

t

t

s

t

s

r

t

t

t

s

s

s

r

r

r

t

s

r

1

1

1

1

1

1

0

0

0

1

1

1

0

1

1

0

0

1

0

0

0

1

1

1

0

1

1

0

0

1

0

0

0


0 = r + s + t ( 0 = s + t ( 0 = t (

[image: image149.wmf]t

t

s

t

s

r

=

+

=

+

+

=

0

1

1

0

1

1

1

0


0=1s+0

0=s

0=1r+0+0

0=r

L = {(0 ; 0 ; 0)}

Probe:


[image: image150.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

1

1

1

0

0

1

1

0

0

0

1

0

0

0

0

 (w)

17f)


[image: image151.wmf]«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

t

t

s

t

s

r

t

t

t

s

s

s

r

r

r

t

s

r

1

1

1

1

1

1

12

9

3

1

1

1

0

1

1

0

0

1

12

9

3

1

1

1

0

1

1

0

0

1

12

9

3


3 = r + s + t ( 9 = s + t ( 12 = t (

[image: image152.wmf]t

t

s

t

s

r

=

+

=

+

+

=

12

1

1

9

1

1

1

3


9=1s+12

|-12

-3=s

3=1r-3+12

3=1r+9

|-9

-6=r

L = {(-6 ; -3 ; 12)}

Probe:


[image: image153.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

-

+

-

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

12

9

3

12

9

3

12

0

0

12

3

0

12

3

6

12

9

3

1

1

1

12

0

1

1

3

0

0

1

6

12

9

3

 (w)

17g)


[image: image154.wmf]«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

t

t

s

t

s

r

t

t

t

r

s

s

r

r

r

t

s

r

1

1

1

1

1

1

11

12

17

1

1

1

0

1

1

0

0

1

11

12

17

1

1

1

0

1

1

0

0

1

11

12

17


17 = r + s + t ( 12 = s + t ( -11 = t (

[image: image155.wmf]t

t

s

t

s

r

=

-

+

=

+

+

=

11

1

1

12

1

1

1

17


12=1s-11
|+11

23=s

17=1r+23-11

17=1r+12
|-12

5=r

L = {(5 ; 23 ; -11)}

Probe:


[image: image156.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

+

-

+

-

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

11

12

17

11

12

17

11

0

0

11

23

0

11

23

5

11

12

17

1

1

1

11

0

1

1

23

0

0

1

5

11

12

17

 (w)

17h)


[image: image157.wmf]«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

×

×

×

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

t

t

s

t

s

r

t

t

t

s

s

s

r

r

r

t

s

r

1

1

1

1

1

1

45

30

20

1

1

1

0

1

1

0

0

1

45

30

20

1

1

1

0

1

1

0

0

1

45

30

20


20 = r + s + t ( 30 = s + t ( 45 = t (

[image: image158.wmf]t

t

s

t

s

r

=

+

=

+

+

=

45

1

1

30

1

1

1

20


30=1s+45
|-45

-15=s

20=1r-15+45

20=1r+30
|-30

-10=r

L = {(-10 ; -15 ; 45)}

Probe:


[image: image159.wmf]÷

÷

÷

ø

ö

ç

ç

ç

è

æ

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

+

+

-

+

-

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

«

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

+

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

-

=

÷

÷

÷

ø

ö

ç

ç

ç

è

æ

45

30

20

45

30

20

45

0

0

45

15

0

45

15

10

45

30

20

1

1

1

45

0

1

1

15

0

0

1

10

45

30

20

 (w)

18)


[image: image160.wmf]>

-

>

-

>

--

-

-

=

a

b

MA

5

,

0

5

,

0



[image: image161.wmf]>

-

>

-

>

--

-

=

b

a

MB

5

,

0

5

,

0



[image: image162.wmf]>

-

>

-

>

--

+

=

b

a

MC

5

,

0

5

,

0



[image: image163.wmf]>

-

>

-

>

--

+

-

=

b

a

MD

5

,

0

5

,

0


19)


[image: image164.wmf]>

-

>

-

>

--

+

=

v

u

AM

a

2

1

2

1



[image: image165.wmf]>

-

>

-

>

--

+

-

=

v

u

BM

b

2

1



[image: image166.wmf]>

-

>

-

>

--

+

-

=

u

v

CM

c

2

1


20)


[image: image167.wmf]>

-

>

-

>

--

+

-

=

c

b

BC



[image: image168.wmf]>

-

>

-

>

--

+

-

=

d

b

BD



[image: image169.wmf]>

-

>

-

>

--

+

-

=

d

c

CD


21)


[image: image170.wmf]>

-

>

-

>

--

+

-

=

b

a

AB



[image: image171.wmf]>

-

>

-

>

--

+

-

=

c

b

BC



[image: image172.wmf]>

-

>

-

>

-

>

--

+

-

=

c

b

a

SD



[image: image173.wmf]>

-

>

-

>

--

-

=

b

a

CD



[image: image174.wmf]>

-

>

-

>

--

>

--

+

-

=

=

c

b

BC

AD



[image: image175.wmf]>

-

>

-

>

-

>

-

>

--

>

--

-

=

+

-

-

=

-

=

c

b

c

b

AD

DA

)

(


22)


[image: image176.wmf]>

-

>

-

>

--

+

=

b

a

AM

5

,

0

5

,

0

1



[image: image177.wmf]>

-

>

-

>

-

>

--

+

+

=

c

b

a

AM

5

,

0

5

,

0

2



[image: image178.wmf]>

-

>

-

>

-

>

--

+

+

=

c

a

b

AM

5

,

0

5

,

0

3


23)


[image: image179.wmf]>

-

>

-

>

-

>

--

+

+

=

c

a

b

OD



[image: image180.wmf]>

-

>

-

>

--

+

=

c

b

AD



[image: image181.wmf]>

-

>

-

>

--

+

=

c

a

BD



[image: image182.wmf]>

-

>

-

>

--

+

=

a

b

CD



 EMBED Equation.3  [image: image183.wmf]






_1234708961.unknown

_1234710569.unknown

_1234711602.unknown

_1234713273.unknown

_1256034605.unknown

_1256655369.unknown

_1257249529.unknown

_1351346493.unknown

_1256655417.unknown

_1256035102.unknown

_1256568136.unknown

_1256568149.unknown

_1256568004.unknown

_1256035262.unknown

_1256034893.unknown

_1256034940.unknown

_1256034619.unknown

_1234713383.unknown

_1234713437.unknown

_1256034588.unknown

_1234713409.unknown

_1234713332.unknown

_1234713359.unknown

_1234713292.unknown

_1234711932.unknown

_1234712333.unknown

_1234712759.unknown

_1234712881.unknown

_1234712975.unknown

_1234713234.unknown

_1234712933.unknown

_1234712842.unknown

_1234712578.unknown

_1234712675.unknown

_1234712470.unknown

_1234712183.unknown

_1234712248.unknown

_1234712321.unknown

_1234712219.unknown

_1234712082.unknown

_1234712163.unknown

_1234712066.unknown

_1234711717.unknown

_1234711791.unknown

_1234711922.unknown

_1234711779.unknown

_1234711655.unknown

_1234711704.unknown

_1234711643.unknown

_1234711209.unknown

_1234711455.unknown

_1234711526.unknown

_1234711596.unknown

_1234711509.unknown

_1234711329.unknown

_1234711450.unknown

_1234711322.unknown

_1234710984.unknown

_1234711040.unknown

_1234711193.unknown

_1234711027.unknown

_1234710809.unknown

_1234710966.unknown

_1234710603.unknown

_1234709718.unknown

_1234710159.unknown

_1234710433.unknown

_1234710509.unknown

_1234710515.unknown

_1234710443.unknown

_1234710237.unknown

_1234710313.unknown

_1234710217.unknown

_1234709915.unknown

_1234709954.unknown

_1234710029.unknown

_1234710049.unknown

_1234710067.unknown

_1234710085.unknown

_1234710093.unknown

_1234710075.unknown

_1234710058.unknown

_1234710036.unknown

_1234710006.unknown

_1234710019.unknown

_1234709998.unknown

_1234709937.unknown

_1234709946.unknown

_1234709929.unknown

_1234709774.unknown

_1234709834.unknown

_1234709870.unknown

_1234709779.unknown

_1234709741.unknown

_1234709773.unknown

_1234709766.unknown

_1234709732.unknown

_1234709519.unknown

_1234709646.unknown

_1234709671.unknown

_1234709694.unknown

_1234709655.unknown

_1234709622.unknown

_1234709636.unknown

_1234709520.unknown

_1234709455.unknown

_1234709480.unknown

_1234709492.unknown

_1234709469.unknown

_1234709290.unknown

_1234709405.unknown

_1234709144.unknown

_1234709163.unknown

_1234709122.unknown

_1231602029.unknown

_1233499196.unknown

_1233863274.unknown

_1233903172.unknown

_1234708718.unknown

_1234708933.unknown

_1233904281.unknown

_1233904541.unknown

_1233904812.unknown

_1233904411.unknown

_1233904124.unknown

_1233864601.unknown

_1233864744.unknown

_1233863415.unknown

_1233501561.unknown

_1233562424.unknown

_1233563123.unknown

_1233501684.unknown

_1233500610.unknown

_1233501042.unknown

_1233499302.unknown

_1231944713.unknown

_1232209803.unknown

_1232619437.unknown

_1232620781.unknown

_1232621142.unknown

_1232621382.unknown

_1233498997.unknown

_1232621423.unknown

_1232621188.unknown

_1232621380.unknown

_1232620878.unknown

_1232619772.unknown

_1232619867.unknown

_1232619743.unknown

_1232619339.unknown

_1232619380.unknown

_1232619316.unknown

_1231946214.unknown

_1232090795.unknown

_1232091377.unknown

_1232091682.unknown

_1232091104.unknown

_1231946649.unknown

_1231945438.unknown

_1231945761.unknown

_1231944832.unknown

_1231854776.unknown

_1231944171.unknown

_1231944309.unknown

_1231943715.unknown

_1231853410.unknown

_1231853920.unknown

_1231602519.unknown

_1231396332.unknown

_1231600477.unknown

_1231601105.unknown

_1231601311.unknown

_1231600861.unknown

_1231599350.unknown

_1231599966.unknown

_1231396830.unknown

_1231394222.unknown

_1231395126.unknown

_1231395883.unknown

_1231394744.unknown

_1231350464.unknown

_1231353399.unknown

_1231350158.unknown

